“Tadobnie
Py(z) = Pi(z) + (= — a:g)(m — z1) fzo, 1, 2]

Py(z;) = Pi(z:) +0= f(z:), 1=0,1

Pa(za) = f(zo) + (x2 — %o) f[zo, T1] + (T2 — To) (@2 — 1) f[20, T1, T2]
= f(zo) + (z2 — 30) f[Zo, T1] + (22 — 1) {flz1, T2] — f[To, 2]}
= f(zo) + (21 — o) fzo, 1] + (T2 — z1) fl1, 72]
= f(zo) + {f(z1) — fza)} + {f(z2) — f(21)} = f(z2)

Tale somo dla > 9 .

fl;izjk*aol :
+£(x) = cos(z)

_ Pn(0.1) Pn(0.3) Pr(0.5)

i1 0.9900333 0.9700999 0.9501664

2 0.9949173 0.9554478 0.8769061

3 0.9950643 0.9553008 0.8776413

4 0.9950071 0.9553351 0.8775841

5 0.9950030 0.9553369 0.8775823

6 0.9950041 0.9553365 0.8775825
Prawda. 0.9950042 0.9553365 0.8775826

Meroda [{Sn‘lo.zdowQ,":

DO = f(a"O)g

D; = flzo,. ..,z

Py(z) = Do + (z = 20)[D1 + (& — 21)[Dg + - - -

a5 (9: T xn-—-2)[D —iln ($ _ fcn—l)Dn] i ]

dia t=1



